ALY ¥ VY alad B g0 dalall Ay I Balgd cililatia) (Alad) antail) g 4 30 3 ) 3
AR R I Loyl g plaiayl g b Ay Al Aalall 4y puaal)
Uilatay) il

.

oY) glaial¥) dala (2 Adilse

sad ) il L &L Baal)
First obligatory set: Utilization of concepts and techniques. (Tpts)
1- Compare using one similarity and one difference between each of the following: (1.50pts)

a. Associations and syndicates.
b.  Social policy and social care.
2- Categorize the following terms into two groups, and justify your answer: (1.50pts)
Scientific and technical progress — weakness in basic services — ensuring welfare —
wasting and squandering public funds — controlling nature — weakness in organizational
abilities.
3- Affirm the truth of the following statements by using one idea for each: (1pt)
a. The political conditions of integration are fulfilled in the democratic systems.
b. The internal forces of change play an important role in the process of change.
4- Show the relation between: (1pt)
a.  The educational system and citizenship.
b.  Values transmitted from abroad and the society’s culture.
5- The Lebanese society witnesses a high concern in Horoscopes. As a student in Socio-
economic section, you are requested to investigate this widespread phenomenon.
a. Prepare a questionnaire addressed to a group of citizens concerned with horoscope,
tackling: their social reality, and the reasons behind their interest in horoscopes.
Formulate a question with three alternatives for each of the above mentioned points. (1pt)
b. Prepare an interview addressed to a sociologist, highlighting: the effect of
this phenomenon on the society’s culture, and the role of media in this regard.
Formulate a question for each of the above two mentioned points. (1pt)

Choice one of the following two sets:
First choice set: analazing documents. (12pts)
Doc.1:

Violence against children, especially child abuse during their first decade, is considered a major problem, and a main
factor that leads to other forms of violence and health problems that prolong throughout the individual’s lifespan,
it also plays a role in school drop-out. For example, a study that was lately conducted in Lebanon, estimated that
child abuse has a lifelong effect and leads to depression, addiction, suicide, anxiety, post-traumatic stress, and these
issues are related to some of the main causes of death, including cancer and cardiac disorders... it also hinders
children’s educational and professional progress in the present and future, and prevents their integration within the
society.

ey L Alll) LY adga hitp://www.yasa.org : juaal)

Doc.2:

The State is inspired by the civil society which is a pioneer in data collection through investigating people’s
concerns and needs, and taking initiative to deal with them. Violence against women is one of these concerns;
although the “Lebanese committee to abolish violence against women” was established in 1997 from associations
and non-governmental organizations (NGO’s), however, the first governmental unit which dealt with this topic did
not take any action before 2003, i.e., six years after exposing this issue.

What also distinguishes Lebanon is the cooperation between the state and its institutions, and the NGO’s. These
institutions call the state to participate in their activities, generalize their experience, and expand the fields of
application that comply with the heavy responsibility of the state, its resources, and the circle of its effects.
However, the Lebanese woman is still suffering from domestic violence, violence at the place of work, as well as the
difficulty in reaching leadership positions, in addition to her inability to grant citizenship to her children until now.
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Doc.3:

The Higher Council for Children of the Ministry of Social Affairs is the national reference that is concerned with the
problems faced by children and all what is related to their rights. This council has established a mechanism to fight violence
against children. All the ministries that are concerned with child protection were represented in this council, in addition to
the associations and civil society. Hence this issue is tackled through prevention, intervention and rehabilitation.

This council is working on organizing regional consultancy meetings, and suggesting working plans by coordinating
with safety nets for the target of presenting law-projects to confront violence against children. Moreover, the council
has organized a national plan to fight violence practiced against children in schools, in order to reach a mechanism
to abolish negative school punishments, and to substitute them with modern educational methods. Within the
strategy that the Higher Council for Children is working to implement, the council’s president indicates the role of
the “Ministry of Information”, i.e., through working on a specific ethical code that organizes how the media deals
with children, in order to coordinate a campaign that directs the public opinion to fight violence against children.
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Answer the following questions by referring to the above documents:

1- Extract the social problem that the Lebanese child suffers from, and three of its results. (1pt)
2- Mention the first methodological step that the associations depend on before starting
their activities in the society, justify your answer by one proof. (1pt)
3- a- Determine the relation between the state and women’s organizations in Lebanon. (0.50pt)
b- Name the social concept that is appropriate to the State’s work, and the social concept
that is appropriate for the work of Non-Governmental Organizations. (1pt)
4- Deduce the social concept that represents the reality of the Lebanese woman, affirming
your answer by three proofs. (1.25pts)
5- Present one proof from doc.no.3 which affirms that the educational methods in some
institutions are still traditional. (0.50pt)
6- a. Determine the main goal of the Higher Council for Children, and the three ways to
achieve it. (1pt)
b. Deduce the two programs of social policies adopted by the Higher Council for Children. (1pt)
7- Clarify the relation between documents one and three. (0.75pt)

8- One of the most important achievements of the twentieth century is the establishment of
an international system that affirms equality of rights between all humans. By referring
to the above documents and your acquired information, and proceeding from the exposed
problems, write a text in which you clarify: the relation between these problems and society’s
culture, revealing three threats on the society resulting from their continuity, suggesting
two procedures to face them (a procedure for women, and another for children), naming

the ministry responsible for achieving each procedure, showing the expected result. (4pts)
Second choice set: Studying a social subject. (12pts)
Doc:

The relation between the urban and the rural areas is still laying its mutual effects to change the cultural features
in both. The interference between modernity and traditionalism, besides the submission of the Lebanese society, in
general, to the factors of change and modernity, which were launched with globalization, imposed new techniques
and various sciences on countries, the adoption of consumption forms, and the identification with western values. ..
at the same time, rural-urban migration increased and as a result, the social structure has changed in both.

Each Lebanese city has its specific cultural components that differ from other cities, even if they share common urban
characteristics... and in spite of the differences that we find between the rural and urban population, we still find many
similarities between them. These similarities had resulted from the modernization of the rural areas from one side, and
from the common traditions, the common history and geography within the same language on the other side, in spite of
differences between dialects...
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The Lebanese society faces many changes that leave their effects on both rural and urban societies. Deal with this
subject by focusing on the following points:

- The rural and urban societies: comparison and relation.

- Four of the factors that contributed to the change in both societies.

- Four different social reflections of inequality between rural and urban regions.

- Three suggested solutions to reconcile modernization with the preservation of the cultural privacy of each area.
Remark: clear and neat presentation (0.50) readable handwriting (0.25) style (0.25)
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